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 SECTION—A /3—S0"l /311Nl / F—STgrm / F—wTT

For each question given below, four answers are given. Out of four,
only one answer is correct. Select the correct answer :

©oq AfSCh1 e BIRGILE Ted i wee | BRI foese Mg «Biez e Ted |
m‘]m?ﬁ’@ﬁw:

Aeva AfSf aem R @ Sea e W | oADY e @ GIHE vT
Wlﬁﬁﬁmﬁmm@:

MEEN HAEm R e e de e §) AR TeE dede A9
1 & et wrra’ R

Fra fow T R we ¥ R AR I Ry e ) SR § @ daw o ow wd B
Hﬁmﬂ?{?ﬁ'ﬁ,

A solution turns red litmus blue. Its pH is likely to be 1
b1 ¥ F1 e Nem w¢a | T/ pH 27 A

GG T e PArTE M 3o 63 | 91 pH 20S A1

TR Tfererrae M ferenr e @ | 4 pH s e

I3 TorerA o foremm Y e o 31 € | g9 pH gevEa: 59 8me

1)1 (ii) 4

.10

An element reacts with oxygen to give a compound with a
high melting point. This compound is also soluble in water.
The element is likely to be 1

9ol (TR SRETETe @ve RiFm IR o sEmes Qe Teow T |
CRICHT <GS TR | SBR[ (N1 2

Gl (Mo wificseR Siex RiFw 3 % semccag Qo Teow T |
1t & TR | W (A =gen

mﬁmmﬁmwmmmm@a
qmfsm | draen S et | gRgaran e gni

ﬁﬁm%maﬁmmﬁmw@m%
N B | T8 AP 9@ A e 1 9 w©T wovE: e 37
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(i) calcium (ii) carbon
Sliun I
FTEAEIS IR
Fataam HEA
Ffcrm HTE
(iit) silicon (iv) iron
feferem LIS
fere= RILED
IRET T
fufera et
(c) AUsing Mendeleev’s Periodic Table the formula predicted for
the oxide of element K’ is 1
crefrst fige of@ Iz IR s K (TR SHReoR
LIS A
eafice */fige ofm I[ER w0 it 71 ‘K (N SisiRebe
TS Al
ARl areoR wiems SRR fRgem K Rgait seerssh
R SICIRSICIR]
A2elts F 3ad ARON H1 ST W IFHE Fifve fF K & Aladass
F G B
(i) KOqg i) K0
.203 (iv) K202
,(d)/(;::}:r{gmomanometer is an instrument which is used to
measure the __ of a man. 1

IR HANOR @Y TF, TP TR G 929 41 = |
=SAMCANOR 4T 2R T T R TR &0 2R

A=A
THEW ARR TdHE TeE s TR S e g
SREA™ ST
fermiAfe w a9 R, fore W T % H AT ¥ foe
foran s 21 ,
‘j)’glood pressure (it) Og level in the blood
& &S Og-F Wl
IS WS 09-3 Tl
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SIEE I dra O 1 e
— @ & Og & &R
(iii) blood sugar level \(ipt-level of urea in the bleod
(O&S I Tl (oS YA Tl
S dara e @
¥y F W T § R F T

The growth inhibiting hormone found to be present in
plants is

1

T 4 IREE TN LA EEaE

R e I = Al %@

ARG TG 7Y WA HAST

areut % Iufeya Fig-ues eHH B

(1) auxin (i) gibberellin

LIk o fRarcafem
kO rarcafem
FfRA Toremtfem
iR efem

(i) cytokinin (tv) abscisic acid
BRE 1A CPRE «fbe
AR %5 SRARBE e
AR FEFA %@ TR Tt

YRR e
§7) en two pea plants, one with yellow and round seeds and
the other with green and wrinkled seeds are crossed, the

plants of the Fy generation will be obtained In the ratio of 1

mmmﬁqugﬁm%mwwwmmmw
mmwmmﬂ%wmmmﬂﬁmﬂmqm@
CofA AR R IR R oo o1 I ey 2 ’
a@ﬁ{%ﬁmcmm%wwq«wmwmg ;
mwﬁﬁamwmwwm#@mmww%?g
MR @ SAS *Newt T S == '
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FR T AR SR R T AR wide Mgl 3 GY-TGIIAT TR
IR 7R F A el T A R e A e 9w gE R AR gl
it aren, F HHO FE S, @ Sad Fy digl % dl # sigea

g
i)1:1 (i) 3:1
(ii)973:3:1 (iv) 1:1:1:1

() ere should an object be placed in front of a convex lens to
get a real image of the size of the object? 1
TG A AR A8 ARy ARt 2’0 TwREsl Ted (FRS

IS (T TS A AR 2
FHIGA A WA ST (TS A AHRB0 T&a (FITAR TN
(I FIC TS A ?
TR T A R 99 qrafiEE SR gar e AR g 9w/
@ A7
Tret fom & wwm SR (A1) 1 gt Sfafss ww w & forg fow
I A 9 & AW FHE @ AT TMHR?
(1) At infinity

SIS

e

e MY SHAEEE

I |

(i) At the principal focus of the lens
(A T F'IRS
(TR 3 GG
A MER B FHHAE
T % T B T
i#1) At twice of the focal length
TR (I 73 [qwS
CFIRPPT (0N 1239 TR
% T TS AHH SR
wiRE gl 1 & gt
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(iv) Between the optical center of the lens and its principal
focus

(R AR SIF U T IR AE9
PR AT G Y (TG TP
A G A MER B HE A e
oG F YT F qY1 G&F BT & d=
(h) The formation of rainbow 1
LY
Elbics]
TRy

(i) occurs in the same direction as the Sun
TR o3 frers 52 =
TR G iz s =
THf T e amise
& R & 7
( igl)//ercéﬁrs in the opposite direction as the Sun
7 TR Refre e iR =
T R fics of¥e =7
AR e Rrerma dmtw
i it fauda R & 991 @

(iii) does not depend on the direction of the Sun
TR frR eopge sy e
T wfSyem Torer forda v 1
AR Rfy e g
@ i R w Rk 18
(iv) None of the above
8T Gole Wy
TR e 7y
TR ARE 71
IRE F A B 7
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(i) _The SI unit of electric charge is 1

/ Rpe TR a7, TR, G T

e ST P, TR, GFF A
forgg 7w 1 TE. AR, AHE 2

(i) coulomb (i) volt
o 2 - -5
FoTd ST
Fer wee
kS dree
(iit) watt (iv) joule
aw kY
il Ly
e ES
are S
() Which one of the following is an example of non-conventional
source of energy? 1
TR (RICH FOARToISS Nfeq B 2
Ao (@G SerF=Iore e T 2
eraf = s % TReR Fa?
i § Q@ - - FEi-|ia 1 T /e 27
(i) Fossil fuels 23 ermal power plants
GRS T orfefes =fe on
HRAPTETS T wrefefes *fe om
AT SN forgenft & aifE
Sfraredt e Fofig T T
(iii) Hydropower plants .Civ)/Solar energy
TfE o T
LSRRI AR IR
Se-Hith G v 3t
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SECTION—B /q—m/q—-’wla—m'ar'ﬁ/a—m

2 Write the balanced equation for the following chemical reaction :
o APTARR RFIER 1 ke e B
RNeva aeHRe R & el NI I
e TR ResemgR arar g wHEers o
13 4 ht Tt SRR ¥ Ry wgfe wiT R ;
Hydrogen + Chlorine — Hydrogen chloride
G + F A — G #AE E%g
TR + G — YT G &
TR + TR — BRSO FAES
BESSH + T — SRS FARES
8, Give an example of a metal which is a poor conductor of heat. 1
g3 @B Trizad i R R T R |
@b 41ex Trzae e @b ©ew I ARIR |
urg Tt fafef= & s engen g @ )
T YTg 1 I&TEWT A1C 91 Fo1 Y Foersh 8|

)ﬂfaw the structure for the compound butanone. 1
REGH’ (RCER 1o SR |

RO @i 181 e |

fe—er s @R g enfa)
=AM Afirew F v Faf| fiftm

5. What is genetic drift? 1
/ LG ALpre 5
e W J 2 E%5E .
R S¥aremn wr? %ﬁ
ITARTH are w1 37
Or | 71&31/ 5ot/ var/ sream
| /’Wfat is variation? ‘
Mﬁﬁ)ﬁ@ &2 .
ffSwer $1 2
T@man Aq1?
fafvrar == 27
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W do you mean by least distance of distinct vision? 1

7 oofp B4 TN G WA R 2
=off B TPTSN TG T 2
FuciERIHERCELINERCIE Rl e

gore gf H reaan g & Fn A 7
7 at is a balanced chemical equation? Why should chemical
equations be balanced? 2

e IPTHNG TP 7 2 IR SReaeprR Fea fere $RT = ?
e1ejf TETHIE FMP F 7 TPIRRE FRAFPTR (= 1y FCS 2 2
Mg TR GORYEE W (EEAIR GHEURGRE AH Sy
QAT AN

e TaraRE e w37 TeEte whEen # el S @l
mm/%?

}Eﬁ{lﬁin why does an aqueous solution of an acid conduct
~ electricity. 2

R «Br i 7R R Ripe 1Rz 3, 00 340 |
S =miies wam 3 @ Rige «AfRees 1, I 7A@
el FanR Tiremaen T AifRE 97 a8

It o welt forera st famgq o =Ten R &, e i)
@ﬂ the help of suitable diagrams, describe the food obtaining

process of amoeba.

o oI SRS fRAR 4 SR 2AfEF 396 4 |

Torye focad STRICT ST < St A 3 et |

T TRy TEETEE EEi SRR I R SEE |
39 T 1w & anfan # sisE 78w w0 @ wkEn w1 aviv Rifv)

Or / 71%31/ w23t/ war/ srerar

What are the biological catalysts? What is their function? 1+1=2
(o IR T 7 (3 o R 2

(o) e sE 9 7 qafr I ¥ 2

FraemR grsarumEn M7 IR TEmE) for

ST I T &7 IHL HE =187
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Mme the respiratory pigment present in our blood and state its

1+1=2
— function. |
’ WWWW%@GWWWWWWWI

wwmmwmmmmmmw«@jﬂmn
S dare wiemn =i gEt for m%ﬁm@ |
TR TR () F R T ik = T RARE T R F H = ifsrg

Or | 71&31/ 9431/ Tar/ gar

What is ATP? Why it is known as the energy currency for most
- cellular processes? . 1+1=2

ATP %7 e (o @AfRe @R aiferrm =@ o &= am g 2

ATP 17 «ft e e @R i =fegm 2 “Rve a2

ATP=1 71? s@ Rafaf s feafaai frafEert ke sweg e
?

T R? i HIRERR wEEE % e @ e gen w6l e S 87

ith a neat labelled diagram, describe a nerve cell. 1+1=2
%3 fofEe fours srmre wmcam «br 3 391 |

a5 %M Bie Boam e @l wneeras 3 we |

T e Rfrm aEmhfy twememe femieiy fead a9
@mﬂmﬁaﬁaiﬁmﬁdﬁmﬁ&mmmﬁﬁﬁm

e Or | 31&31/ we3t/ Tt/ sreray
escribe a reflex arc.

2
A9 4 GBR If fin
b A £ I 71 |
TE AEGT S THA S@aty |

, giderd] =T 1 quiA <hiferg |
‘ ow does a unisexual flower differ from a bisexua] flower? Give
</ one example each for both the types. 1+1=2

GFEAA P (FATI TR orets @ TR i
Tz fram

wfﬂ@w%@ﬁwwﬂamw?ﬁﬁmwﬁmmwm
ammwma-wm@m?wmwau
@%ﬁgmwmgwﬁww%?ﬁ%%qw-@;maﬁm

\}
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Or / 7%&31/ 9931/ var/ 94ar

Give the names of two agents that help in cross-pollination.
How do a seed and a fruit develop? 1+1=2

T RIS OIS T T IS PR AN ore | B Aw WE O FoH
R @TACI TCE ?

Toq RIS WIS ST I IEE G5 AN (@0 | G I R T
e Rt Fowa Wh 2

AT EET T YT S A e g ) A A AR O
fpurzf aREAR Ak S

TR § TEEE 3 aEE] % AW Rifa | wh i o o bt o e TR
THR BT 8 7

yﬁ the focal length of a convex mirror whose radius of curvature
~" is 30 cm.

30 cm ST IPTYR TSA TN 9X7T T IR 07y e #41 |

30 cm S/ PPICET GFb T&t noftom @rePT el fRefa e |

30 cm TG G@EHT 1 ARAT TR F HE THAEE! g

34 I N ) Frww g0 T iR, et Fa-He 30 em #)

Mch work is done in moving a charge of 5§ C across two

et points having a potential difference of 10 V ? 2
10 V Req (o3 451 @ qeed 5 C S oifere Fedice Ry ol 3@
o 2

10 V Rex st 1 R T4 ficy 5 C <4 oifore e w7 vr( Fa0e
2?17

10 V ar@fy $RE 99E 997 =R et 5 C w9 Sas gEn
ISP ¢

10 V fovEr & 2 fagelt & 9 5 C smw Y & 9 o fraw =@ R
T 7
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15. y do two magnetic lines of force not

/ ol (Y eCAATE, ¥R o PO A ?

intersect each other? 9

Of0
b (B AN (o R SO I A7 %@
ﬁﬁwmﬁwﬁ@wmﬁm@ﬁmm’m?

2 g Ty TH-gR A SR A

ive any two ways in which biodegradable substances would affect
the environment.

2

& Rl My AR /e =R “H1 {51 TSR ey foran |
& ffiead e ARTICT 2R FICS =1 9 1o TSR REew @ |
Rgeni Jam Rroeer eeEm@) e @ieHl grit Sf 7Y T B

¢ ¥ < 7l gerge w1 frfieofta waref gateror @ sifam 8

% the different trophic levels of a food chain with examples. 2
EI%E

BT A 2o RfeH (MR s R Tz B | %
a3 I *RAced f[{few (MBs vamRr Ree Ta=aePR ¢oea |

A wg AR e 1 g aee drerE o SRR Yeeest
fafsm|

ameR e % ffm dft ww w e wfta W)
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-

M metal compound A reacts with dilute hydrochloric acid to

‘ produce a gas which extinguishes a burning candle. Identify t}.le
gas produced. If calcium chloride is one of the products formed in
the above reaction, then name the metal compound A and write the
balanced chemical equation for the reaction. 3

51 4TSR QT A oY RGF T «afieq Gice R IR GO (o TeH I,
R (TRBIE U WO A WA PN | @ oA @@ (RCE! o 40
RIFANETS Teo A1 b1 (o (RN FART T o4 (@ A-T TN

435 4% (A A oY YGRS Sibes Ao R w0 @afb P SeoH
IR @ 93 w=w @R Rfew @@ Besm 267 P Fe Al |
Rizafbes Teom zem «If (Mol FEBAR GRS A 4197 (qor A-G8 T
e @3 Rfdmniba sy apmfae sifeaef o |

uigft W A 31 ¥ere es w R e e S AR T /e
T rgen S A T A i QR | e e Jr? s
anfe AR @R SaEm T Tse sEsen aight @@ A f g for e
Tz Ty TaEETR wEEeTs R

1§ Uiy N A aF TESrEieh 3 & Y AR W TF T I wdt
2, W et Awer H1 g A} W IF W R weEw i) ARk =
it & 3cqw A § A o FREm FREe ?, @ g D A w1 AW
Farse a1 38 A & fore wgfera vamafe axfieor fafla)

Or | 7231/ %<1/ war/ sregan

What is acid rain? How does it affect our aquatic life? 1+2=3

qfee 31 7 X IR o &9 (aquatic life)d e4F® @FEWE 2O/
RER 31 ?

wpie 3R 2 afb SIcE W SEE TR PeE qor e w1 2
Tfre @ A? @ S 2R ReaRert arme 1t Tem deE?
Wt Tt A OR? q® TR ehE SEwtEl B et w5
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o jon 1 i ] bout
ﬂ about 3 mL of sodium sulphate SOl].l!SlOl‘l. is m;}ied :{)lila rallce is
3 mL of barium chloride solution, a white insoluble s

duced.
§%D3U;1ﬂﬂi’1%ﬂmﬂmmaﬁ3mwﬂ@ﬁm§wmm

e =, o o1 390 SRy A B 2 |

% 3 mL ARNCR CAR TS aail?;?me
Sow Tifire =, orRge b AW SERy Ml e =W |
ﬁgSmLma’%mwaﬁraﬁnﬁmaﬁqﬁ3 ], T W FTEEH
me,mmwﬁﬁmﬁml

R @ 3 ml Sifeaw geke % faera @ @ 3 mL fEH TS *

oy ¥ Ty R T 2, A T W g v e A 2
/ﬂﬁj the chemical equation of the above reaction. 1
@oq RIGFACER IPTRF FANFINO! #1407 |

oA Ry armfe sRab @il |
Tﬁa“lﬁﬁﬁmmﬁwmﬁwm@‘r%n
I RifR ¥ o mamte ade faRag)

(b at is the white insoluble substance produced in the above
reaction? 1

@o@q RIFAEe Teom @R 380 SwE o & 2
Toicag Rfrniice Teom 2w M SRy 2wt Fi 2

T Rersmomear @i TR AR gEm m?
Iwires aiffe 3 e we STgE e o 37

(c)~ To which type of chemical reaction does it belong? 1

_ @ R R eera arEie Rt wmefe 2
< Rt e e TP Rt s »
F Trememgen =1 U@wf fesnams?
e Afvfsean ey o emafies sl & st s 27

Or | &1/ 9%t/ var/ sreray

What are oxidation and reduction reactions? Explain with examples. 3

R o ReRe Riuam &0 THIRACRA IS &2 B |
mw«ﬁmqﬁﬁmaﬁ%?mw{ﬁmmu
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AfFeeTE AR ARETEE fesraEer a7 AR sge for|
3qgaa 3R rq=Ea iRt T 8?7 e afta e S|

20. What was the basis of arrangement of elements in Mendeleev’s
eriodic Table? Besides gallium, what other elements have since
been discovered that were left by Mendeleev in his Periodic Table?

1+2=3
crafed e SRRe (eERs & fofve sicarn (2ke ? ofermT Tafke
H-CFF (@251 (Mo AR (D TRFA @R L8R (Wefrs o969
IS 312 A ¢ (e 2

crefeitsa -rfige wiFrre (eakis & e e za@rRe 7 e
RTS8 B (P (Tl SREER 26 LR (s S TerRTs TH (0
forcafecer

ooy iR wiftemgEE (RygmRe it wEE faw @emE
YVRAE SREHA? AfEmR e TEH ER 99 REEeRN 9
TREeRE gl R aufaven fagift wiftemgae sEm et
ﬁ.:h?:— :?

Areeli® 1 3Tad Aol ¥ it ol fohd STUR R =qafedqa foram mam an? Aferam
& fafees PH-FH A dw! a1 =S ¢ a7 Aeefi® 3 @l wE s
R en?

Or ]/ M3t/ 5991/ Tar/ srgar

What is the need to classify the elements? Mention the limitations
of Newlands’ law of octaves. 1+2=3

(oA cfeEs R gEmamel 7o Rieew wis R
SREeRR TEY 40 |

Tergfr  cARerm TR aasTmel f2 Wemer-a1 w8 e
Rarraretese Sear e |

YR ARERFAR. iR w7 feevea sy e Smwa @

T HE |

ol & i R e 2 G & e R @ @t B
feTRaT |
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ments arranged

some groups of three ele
re given. Find

reasing atomic masses a
form Dobereiner triads. 3

In the following table,
downwards in order of inc
out which of these groups
Group A |Atomic |Group B Atomic |Group C Atomic
_|Mass_ Mass ~ Mass
N 14-0 Ca 40-1 CL 35-5
P 31-0 Sr |- 876 Br 79-9
As 74-9 Ba 13773 | I | 126-9

WWWWWWWWW,WW
@ﬁwmﬁmmem@m@mm@mem

[ Fefg 11
A |AEaRACTEB | AR | ool C | AR

W | = | ey | EEpE
N 140 | Ca | 401 cl | 355 %%

E 31-0 Sr | 876 Br 79-9

As 74-9 Ba 137-3 I | 126-9

e oRItre [ (TR IaEdb N @S 2R CIeEHiS
ARNRS

SEd AT Fwentics ee | eRtetR CCRICAZAR

il g @Fmsl < ER G

ATA | AREIRACE B | mEreRe | @ C |
o ©d =
s oy
N 140 | Ca | 401 Cl_| 355
P 310 | Sr | 876 | Br | 799
As | 749 | Ba | 1373 | 1 | 1269

A TR TR wemE
TRgaT AE TS TR SR | SFSTERR S e i
wmiERT g | SRR T

| (=125 =]
SIA TR | B (g C | gmmah ﬁ
_ R |&TT C 7
N At AT L]
T 140 | Ca | 401 |
e 310 Sr 876 | P;r
™9 | Ba | 1373 | 1 [ 1069
= |
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et wToh & dF At F 3O WE P T FEEE S TE SR A AR
A iR =EfRE fea T 2| T TR B T A PE-A W SR B

Loy
A | ww | @EgB | v | gEC | Y
T 79 FAHH
N 14-0 Ca 40-1 Cl 35-5
P 31-0 Sr 876 | Br 79-9
As 74-9 Ba 137-3 I 1269

22 ich is the main thinking part of the brain? How can any smell
- be detected? 1+2=3

TR¥T U BE-SRAR w1 @ ? R @ omm @ B FRe
o1 T ?

TRecFR 70 BI-SRAR Bt (D 2 (T P! o P ey 1 W 2
AW TER A SRR WRET? SRRESE ARG TER AR g

wferss & SH-G1 W 7eId: QA W aaia Benelt o R7 & e
TR T T R T 87

Or / 7&31/ 9931/ Tar/ Jgar

How does leaf movement of the sensitive plants differ from the
shoot movement towards light? 3

Regu SN SR oS o AREGARET S P9 g Ao
CoIrRa Fer oifS 1 ~AREBAER e el & 2

FEF AN ST TSR boil “MRROIM R P (et wersiaifba
s e oifS a1 ARTG-1ba e N Fi 2

ARG e o' AR e SR e ?

giad et Y it i i,y H 3R e F & Rea v e g?
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. 1 1 2_
What is a placenta? What functions does 1t perform? +2=3
\ /

AT 1 (2erh1 R 2 % & I T I ?
SR A1 ATe B2 «ft FF I TR FA?
A T e WY A A A e At
R T 27 A8 WA-FA H FE G HAT 7

Or | 7%/ 5e31/ Tar/ 4t

What is germination? From which part of the seed do the future
shoot and root develop? Which part of it stores food? 1+1+1=3

u@qﬁs?%mmwmﬁsﬁmmmwwﬁwﬁmﬁm
2 ? TR (I S 4T A7 R MW ?

o5 N7 @3l e @R TN (WF SRS TS 3R ey Fee
ToPre 20 7 @ @ =R I AL FCI A0 ?

T AR W AW ARR T @RteE 1 Y R 31 e S
AR T TE ARKE T GEAHAT ARG

o 1 ¥ i F hm W A e TR Ao sl g faefa B 87 T @
£ @I G e 7

ow many pairs of sex chromosomes are contained by the human
beings? How is the sex of an offspring determined in human?

1+2=3
TE (AR (AF T I IQ@? TR (Fq© T BiRel (R
fFfma s =2
TR TS (AP A FEACEN 29 FA? TR (FF SWER B T
fefRe 1 =2
WA A I W W 47 AR A T E e ae B
WA W7
et 3 R o o & gm B 87 A 5= o Rem-Rafor 32 S 2

Or | WM&/ we1/ var/ sreray

What are acquired and inherited traits? Explain. 3
IS S ILTFESF SR R 2 0 <97 |
wfefe G2 ILTTERRF SRz 2 1 e |

AR TR HITRRY AR A 117 )
maﬁamaﬂtmmﬁaﬁwwéﬁﬁ?mwl
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“What do you mean by an electric circuit? Draw an electric circuit
comprising of a cell, an electric bulb, an ammeter and a plug key.
1+2=3

tapfes 36N T B @2 m,mw,aﬁ%ﬁwmmﬁam
o1 (APfes T8 B ST 31 |

e TR e P QA7 @, TGRS 1@, TREOH G 2019 5P
&3l L3P T8 foq wre= e |

ﬁammmgﬁﬁ?m,ﬁﬁam,qﬁmmmﬁ
FHEEAE AR At gra-amsi gamit enfa |

forerg afeaw =1 0 ond 27 U I, T R Tow, T YieR A T 1 F
¥ fireeR =1 = fagg afy &1 am@ =Ry
Or | %31/ &%=t/ var/ rear
State Ohm’s law. Draw V-I graph for nichrome wire. 1+2=3
@3 SACh! oral | R S V-1 @3 ok 390 |
@7~ 3 a6 TN | AREN O V-1 (T % I |
iy @ for) P arf VoI |-aemit afa)

mmﬁwwa?mﬁnm%%ﬂvlmm|

\Wrcular coils A and B are placed close to each other. If the

current in the coil A is changed, will some current be induced in
the coil B? Give reasons. 1+2=3

TR IO FUN A TIF B TR S5JI- S5 I (R | A JUArS 2712
#fRqSH 2°73 B IS 2R WIRE 2 7 IR WO |

7% JBRTW FOA A R B AF~F IR TN 2R | A F9Rcs [T
RGN (A B PHAICS 2712 WRE I F 2 IR (1S |

T FETR G A 0 B @) MesiE @i @il aiea w6l ) A WEAE
TERE AEAE s B 3SGEAE @ SRR QS 9m1? SR 8l

2 AR Feferi A 1 B TH-gW & Tz 8w §) aR gt A # fagaum
H 1§ aftEda L, @ = el B # 9 frgquma e Beft? wwor faRaw)
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Or | 7&J1/ 931/ var/ sr4ar

An electron enters a magnetic field at right angles to it as shown in
the figure below. What will be the direction of force acting on the

electron? Justify your answer. 1+2=3
O WA @ P CRAS IS (76N WA IO AT FCR |
WAFTOR 8o R 391 W 1 T 237 Tagq e e 0

@ XFg @I pIe owea fora oA S TS AT FCACR |
2R Tora o a1 I wfeyy B w3 2 T v ey A |

weiEE Rt aftd A e A s arfe AR gt |
TOAZAM AT ST WA St w1 smie? ey oawe Rg)

o foe & zwiy sgem 1€ e Rl g &9 & &9 % e yam
FA & | FARA | ARG 70 H fewn w1 Sft? a1 39w gemefar wawy)
Op7HO

S ° 5
-

Magnetic field / PIF G/
—> D3 v/ gre Tifet /
FEHT &7

OG0
=
=
, A person cannot see nearby objects distinctly but can see distant

objects clearly. What could be the defect
the person j i
from? Draw a ray diagram correcting the defeit o Suffern;gz 3
. + =

& AR S5 TFCAR ~BF (741 Ao g
Wﬁwﬁﬂm?%ﬁﬁﬁﬁ?@&mﬁigﬁll

T TS IO N ~oBim ez oy o
mmlmﬁmﬁmm?m&:ﬁamwm
<% I | TR Crien i fig
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R R @i gEed e e, e TeEe gEeRe el @

TR JaEEm W I E? A U wREm e STeEAE U6 §ER
anfa|

wF Al P At Fegell = gere 76 Ya wwa, wg | F TG B gEE

i@m%lﬂsaﬁﬁa;&-aq%tﬂ%a%?sﬂﬁqaﬁmﬁﬁﬁaﬂ%@@
fFw Mm@ = me)

Or /| &1/ 531/ var/ raar

Sunlight is made up of seven colours. To prove this idea by Newton,
explain the recombination of the spectrum of white light by
drawing a ray diagram. 1+2=3

A (12T AEH! TR o3 | TG @ qrRechr ol FRALA 90 (ART
AR 7[R A I g S FR 2 3]0 |

SR e STefb Ace s | o G 4R 2w TR T A A
AR SIS P B S I WA A

AR W AfE TER SuR) PRl @ arenEE wom e TR

T 1 FH @ T A 02| g BT uren H g F1 F fon w@a v
¥ Taga % THEeE 6 oo @ g sren S|

@ What is solar cell panel? What are the advantages associated with
solar cells? 1+2=3

OTR @E Fo1F 7 G R IRZT TRYprE B &2

G PR FoF 7 CT (PR I TR F F 0
TR Al YA W17 AR A FEEAR TETR WIS 77 777
A e e w1 27 R Al sraEr B grReT - &7
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e 1
29, (o) " Define malleability.
4Tex Yoo ee for |
TR qSTRATOR A< CoTCT |

UG FETERSIT GHRE & |
ST & g feRae)

() What is allotrope? Write the two allotropes of carbon.
Jgqel % 7 PR T2l PR AW o |
Tz B 7 PR O IO T AN |
HEAEIA WY FEAN Al A g Rl
ITETF FAT 27 HEA & o JTETH! & AW fIRaT)

(c) Explain amphoteric oxides with examples. 2
THRACIE e TodTht SHiRT v 394 |
TrrRaerTz. oot SEiEe I
fafef2rst A aReit sreemgeR S@afy 7))
e AfFETEel # Fee |t s i
Or /| &3/ 991/ war / sreray

(a ich gas is produced when dilute hy
to a reactive metal?

mmmwm’#%ﬂfi@mﬂﬁﬁmﬁi (1R ooy g 9
m@mmﬁwﬁwmﬂmmmmﬂaiﬂ?
ﬁqﬁwq@mhﬁm’m’h@sm%ﬁmmﬁnmﬁ

s tvframsfia ¥
ﬁqmﬁvﬁ%?% T T TR S R e w e

drochloric acid is added
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Mrite the chemical equations for the following reactions :
oo R I SR B

/
Acex Rirmeslom apmie s e :
TeE fEsmaRerf el Tamas o -
e arfafranett ¥ R wamafe wiewo i

(i) Reaction of iron with steam
AR AR Fore wizE R
AR TR 0k IR R
ERCL S RCINERETEIRI
g 3 Ty @R () 0 it

(ii) Reaction of calcium with water
N ForS (PR e
eed e e R
Rl SIERILIERESEIRIH
Ve % @y Hfcam s

M:hat happens when zinc is added to a solution of iron(II)
sulphate? Write the chemical reaction that takes place. 2

W(II)WW%WWW%@”ﬂWmW
R o |

SR TS 73e i 41g fiee | w06 2 ieelbs zew apmE
R e

et AEA(II) Teke TfadEeTE  SRlsA W W™ e
TEEATR g for)

fr # JAEA(I) Tohe ¥ foma § sem ¥ w0 o R R
Tt afifen il |
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ol . the huge
80. (a) Mention two properties of carbon which lead to .

number of carbon compounds. a1 |
P R 751 4 A3 T P (A TR oty il T

P @ 4B q e S IR (e S T, ot ol gfo TRy R

(b) Write the reaction when ethanol is heated with alkaline

\/KMnO‘i solution. Name the product of this reaction. 2

e FRAW KMnO,T O7s beg I IS car Rfgcs!
foran | 0% RiFAGR RidFarers MR == R |

WEAE FRIW KMnO4 -7 % Teg 401 afve zeq R
el | @ Rfgafba Rfsraers omefbg T e

AAE @RI KMnO,St $gTE AmAE fesneee) for) o
T s gam@ for)

TyETa ) 4 KMnO, foea & @y wl 6 & 29 9ol = 1iifmn =y
fofaw) gm0 arfvifran & 3w %1 m fafaw)

\_Jg/Dfaw the electron dot structures of the following : 2
oS AR g R oow i : B
P 2 g i S a&%&
TR BHEGRA 9T % 91 T1UE oRg: =
e i o forg s fufia Hift
(i) Propanol (ii) Propyne
i | C
a’
cefTeTT=E C‘Eﬂm
NI Yo
PIRIEIS
TR
B21-GS/31B
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Or | 7%&31/ we3t/ var/ Jrear
(@) What are unsaturated carbon compounds?
SRS FRA QAR 32
[ IR (qoreler 2
TSR e GBI A17
ITEQE HrEA v w1 &7

(b) A mixture of oxygen and ethyne is burnt for welding of iron.
Explain why a mixture of ethyne and air is not used. 2

@ [ B e (welding) SREA W® 2R W= I A |
BB FA9TS Y W T T T, TR AL

@E (&8l (WeIR SN (welding) SRECE @R 2R 72 I A |
TR I IR (A IR FA W AL, AR FEA |

AR A FAFAR & A5 Teg T AR WA | AT
R TREA S AEE AF SRR S

AR ¥ afeen ¥ forg stiedfism aun 3umga % frsor =1 < R s )
e IR 7wt sumge o arg % s w6 v 7 e st R)

(c) Write the structures of the two structural isomers for butane
and give their names.

RATTHTR Mo ST GBI o107 F BiEeq [ fBoray |
RGBT OIS ST 554 oo @R CTafem W corean |
g wom vt AT e Y SRR | R

A % 3 WEATHS THIEE! ohl TR a9 Ik T Rifaw
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he
. ) where do t
31. do organisms require food? In what form and in our body?

food substances that we consume get stored ulfiilflfl“fl.te_ly 4 to pro vide
What are the different ways in which glucose 1s oxidize 1+%+%+3=5
energy in various organisms? :

mem@?wﬁmwwﬁ‘ﬁﬁﬁsﬁg
Wﬁ«a’@ﬁ%mﬂ?ﬂﬁﬁmﬂmwmﬁﬁﬁmw

Q@A RS AfFIR AT T S SR 9B ?

SRR T A @ %7 WNCE e wreaehl e A
RO P @2 @I ey See 7w wfew @ee crearg s Rfsa
& o N B ow fon aifewm =1 grcem w@eT T ?

AR Rl T S A S SHE SEREI e Jwe
AR S FeRR T3 S S WiE S e e SEwre w1 a1 3T
T AEEIAS TS i AfrasEAE S

Shat ) oM e 27 TR ER @ T s 3Tad: SR IR A TR w9
# o R o 3 Wi AN 37 T % e @ e et § o W
HA & fafv= qo a1 87

Or | 71231/ 5431/ &t/ srear

Draw a neat labelled diagram of a longitudinal section of the
human heart and show the course of blood flows through it with
arrow marks, and describe the course of blood flow very briefly.
State the importance of the valves present in between the auricles
and ventricles. 2+2+1=5

TR ZEPIe b ~fRwe s e &R e W TS e g 2
Wﬁmﬁ@mwmﬁwm@mwwmmqﬁwﬁmq
frn | wiferw I e TR FAABER @ F9 TS T |

mqaﬁmam@ﬁ@mf@%mﬁﬁﬁmﬂiﬁﬂfﬁ%mm
ﬂmmﬂmiwwmuﬁiﬁmea«wmwﬁ
@W’T’(ﬁ‘@ﬁﬁmﬂﬁIW@?‘{WW*U?F%@W@WWWI |
mwﬁmmﬁ@mm’mwmmmwgﬁ
I S & e Rereh R T & ST Rt o TR e o
AR 3P Y TR el '
Wm%uﬁﬁmmm@wmﬁaw

mﬁwﬁa%mmaﬁtmwﬁm%mm;ﬁ?g?%
@rﬁ\qmﬁawﬁm%aﬁa@amwmw%| b
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8% A copvex mirror used for rear view of a car has a radius of

\_,N‘Zat’:let; of 2 metre. If a truck is located at 15 metre from this
mirror, find the position, nature and size of the image. 5
Q% TF IR PrdE o1 Tee weened S P 2 f{oR | AT AR
15 bR Fage 271 i @3 AR T, ogfs W TR e 90
G B MO Pz o Ve ol St apny 2 w1 wefaf (e
15mmwm@mﬁ%ﬁmﬁ,ﬁ%mwﬁ4ﬂ$ﬂl
mmwﬁﬁﬁwm’mmﬁmﬁ%wm@@
H’WW2M|%§@@$W&@W15WWW
2T TR 3T WG A, AgUTE AR aEat we! g
@Wﬁ‘ﬁ%mm%@ﬁ%mméﬁaﬁmwiﬁw'ﬁw
2 HR B afR wF 7 W W A 15 e # gt ® B, A sl f
TFf q AR (W) T R

Or | %3/ 5o/ v/ stgar

We wish to obtain an erect image of an object using a concave
mirror of focal length 20 cm. What should be the range of distance

of the object from the mirror? What is the nature of the image? Is

the image larger or smaller than the object? Draw a ray diagram to
show the image formation. 5
20 cm TR (AR SO WA @A IRZR IR SN THRE GOR {7
ofefg o RERCE | AR [ TwEd [{ed <R R @ e 2
A =g B 277 ARTE! THESLT 6T (7 3 2 2T NN ol
3Pk foq =IgF ¥4 |

20 cm CFIFP OCdA G5 TREH 7ol IR ICA WNA! G0 AWIIE AT
AP s B Wl (wF AwEE TR P Fe 26w The?
ofsRes 23l | =2 oAfeRa b (wF I I A @b =32
of SR ooc <3 aP o s ¢ |

20 cm F'HE TAARH T TEAT T RN S AR ga A e
gE AR ARRET STEATHEE AR g SR Sfe S A
FrEh SAGYT H ¢ WEEsT ASRgAgs WA T gERe? af A
T grami e |

90 cm FFEE g0 F TH A YU H I Wh #w e fom w1 da
Ww%%lﬁaﬁaﬁwﬁqﬂwqﬁm(rmg@wmaﬁ@
st 6 vk B 27 viifm, e we1 § o se? w A & sfife
w3 1 T T TRE ST

* % K
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